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Grundintegrale zur Vorlesung Mathematik I/1

Es sei a ∈ IR ein beliebiger, konstanter Parameter.

1.
∫
xa dx = xa+1
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∫
ex dx = ex + C
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∫
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∫
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7.
∫
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a
) + C

8.
∫
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9.
∫
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+ C nur für 4q − p2 > 0

12.
∫
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dx = − B
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)
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∫
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∫
1
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14.
∫
sin(x) dx = − cos(x) + C

15.
∫
cos(x) dx = sin(x) + C

16.
∫

1
cos2(x)

dx =
∫
(1 + tan2(x)) dx = tan(x) + C

17.
∫
sinh(x) dx = cosh(x) + C

18.
∫
cosh(x) dx = sinh(x) + C

19.
∫

1
cosh2(x)

dx = tanh(x) + C

20.
∫

1
sin2(x)

dx =
∫
(1 + cot2(x)) dx = − cot(x) + C

21.
∫
f ′(x)f(x) dx = 1

2
f 2(x) + C

22.
∫ f ′(x)

f(x)
dx = ln |f(x)|+ C


